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Psychology Test - 10
Q.1) PALE 6T60TLIGI 2134 6T60T6LD, EARTH 6T60TLIGI 41590 6T60T6Y LD
GSMIGHELILILLIT6L PEARL eTeueU MM GMI&&LILIHID?
a) 24153 b) 24315
c) 23415 d) 24135

Q.2) BT FSIT U6l BlevsH L Gouedl emLn& ELDBLIMSI 66166 T(H
L&HS5SH MG 26 S5LDL|56T 6T60TM6UTMI 2 6TeTSl. aul 2 LIGWMHLUILGSSH W
QLOMTH S FHLDL|SH6IT 6T 5 60)60T?

a) 100 b) 102

c) 106 d) 108

Q.3) LOMMILIL (H6ITET 6T600T60)600TE & 600TL M55
a) 49 b) 63
c)77 d) 81

Q4) @ FSITHIGLINMSE U6 2 6T6T (Chess board) #3517 HIS 66T QDTS S
6T600T 6001 | 55 60) 5>

a) 64 b) 256

c) 204 d) 128

Q5) GBHMEnW (PeTHTSHS MG @) T600T(H H)euT b1 6T (L EOTE0T [
@TWIMHMIG &)LOEMLOUITEOTITEV [HIT6M 6T LD MIF60TES 60 H 2 (H &S
@)\ TE00TL_MEUS TS 6U(HLD H6oTLD 6TSHI?

a) QaleTerls HLpemin

b) @ETUIMMIG HLpemLn

c) Feofls Hpemin

d) HmIsL Hpemnin

Q.6) BL&EHeTL 61WsH S auflensuiey 91bh &SI aulflens ereoreor?

aaaa, ..... bdzb,...... CEAC, .uvveeeen.. djzd....????
a) enae b) ekze
c) elxe d) emae

Q.7) O&MVSHSHGIT 66T LIS CLOMEG QUMBISTETSSIL 60T QS TLTL|6mL IS 6T6ofl6v
(LD THENIL_60T QS ITLIJL|6DLUISI?
a) ID&MTITqL_ T b) @& meur



) QUG d) SHWLNTCHFID

Q.8) @ FHICHS QMPWIC ‘9(Wpens’ ereTUS ‘AIflLIL’ eTeoTe]LD,
‘AfILIY’ eTedTUG! ‘GS&HITLLD’  6TeoTaLD, ‘&ML’ 6TedTLS! ‘QUITMTemLD’
6T6OTEY LD, ‘QUIITMITEnLD’  eTedTLIZ ‘GUITLLY  6TeoTa LD & MILILIL L IT6V
BeNHEFFE 6TETLIGI THEIL 60T QG TLJL|60L_UISI?

a) @& muLD b) AflLiL

c) QUIITMITeLD d) (e &

Q.9) 3 WMsEIG6T @enLealeflulel MBS 4 &LoHen S 8 6rl6oT UG
Fn(HBH6V 62 IDMHMHIGET. L&E Fnlul & LpTHem & U 60T 61U 6T60TEOT?

a) 12 b) 11

c)10 d)9

Q.10) ROSE 6TETLIENS @++# 6T6dTMILN SAM 6TEOTLIEN S + *- 6TEdTMILD & M) & & IT6V
MARS 6T60T LI & 6T6M UMM &GN & 8 6VITLD?

a)-* @+ b)- @* +

c-*+@ d)-*#@

Q.11) SEUMITEOT 6TE00TED)600TE &5600T(H LIILY..
253, 136, 352, 460, 324, 631, 244

a) 136 b) 324

c) 352 d) 631

Q.12) 5 GUETIT LDMMILD 8 QILIETT 6L & 6Tl 60T flemev erp. 80. 15 GLIGOTIT LOMMILD 16
QueT& v & erfletr elemey e1h.200 6T6vfl6v 12 GLIGDTIT LM MILD 12 G)LI6dT & everfledr
6l60)6V 6T60T6OT?

a) 150 b) 152

c) 154 d) 156

Q.13) 6(B Blemevwimeot LjemerflulledBba FLOSTISH 6V HSHIHLD L|6merfludledr
BlIWLW LITens

a)eUL_LLD b) BHTC&HT(H

) LJeU6m6ITWILD d) BeiTeul L LD

Q.14) &(H SH600TEOOTITL]. 2_(HE?ETen U 2 (HSHH 3|CH 2 WD, QbTD 2 6oL
FnlDLSETTS QEFLWLLRSH M. @eleumm 2 (H&&LILIHILD S lhL|derleor
6T600T 6001 1 55600 &

a)l b) 2



c)3 d)4

Q.15) 4-[6-{12-10-8+6}] F(HHS®.
a)4a b) 2
c)6 d)8

Q.16) @eUfleT IDMEH QFV6&H6T LILSH 6V &ML L LILIL (heTerer. euifleor
GFLAILIL] 6T6UGUEITEY 6T6OTE 85IT600TS.

B15 GFsueyHeT

a) eI, 800 b) €IH.900
c) €p.1000 d) em.750
Q.17) N BILIL_L 6T600T6D)600TES &5 IT600T . i=i=£

20 y
a) X=5,Y=12 b)X=5Y=5
c)X=12,Y=15 d)X=12,Y=12

Q.18) 2(IH H19.5MJ5H 61 B LM MILD Lo6vot] (WeT&erledr Herid (wenmGul
l4cm LOMMID 7cm. 30 BILAIL MBI erflev BILGIL (6T DM MmILD L0600 (LN 6T 6T6UAU6ITE)
STJLD BSHHLD?

a) 88 cm, 3.66 cm b) 22 cm, 0.915 cm

c)44 cm, 1.83 cm d) 1.83 cm, 88 cm

Q.19) @ eeVIQUIMTIH6ETleL 15% ST 2 6Tengl. 75 B Ceum STLAlFLD
QuUMGeuevOT(HLDMEOTTEV, BH6mEULILI(HLD CLNGVLIQ LITIHEIT?

a) 750 S GeuIT b) 600 HGeuIT

c) 540 B GeuIT d) 500 E\GevIT

Q.20) @& 6T QSTLIL LU UTTSHenNSHNU CHTHOSHH&HSH?
Glove:Ball::?:?

a) Hook : Fish b) Winter : Weather

c) Stadium : Seats d) Crane : Penhast



Q.21) edTeupeuetalmmieT 67 GaumiLih&HmsI?

Q.22) SflHQ&L : DL 6L eTevflen, GLITGeVIT : ?
a) BFF b) DFEFQ&FLDLOL LG
Q) B9 d) FFLIQ

Q.23) 62(IH 6T6OOTEOOT 60T 76UG! LIMTGSH6MS 3IS5e06n LW 116181 LITEGSGSHT(H
QUIHEF 60TITEL QUIHEUSI 1232 6160116V i [H& 6T600T UIITSHI?

a) 121 b) 49

c) 308 d) 316

Q.24) 300 LIS BIGET 3|66 6T6T 2(h L& S5 85556V LIS MbISH 658G 61600156160
6T& & 60)60T 6T600TSH6IT G&H6M6U?

a) 299 b) 492

c) 789 d) 792



Q.25) ‘LIGARAE’ @ &6V 2 616l 6T & SIGemer MMl auiflem & L1LI(H) & ) 60T mev
6TSH60T QLW HemL&GLD?

a) BIH b) BT

) B&JLD d) @&

Q.26) + 6GTEOTLIGI - 6T6OTAYLD, - 6T6OTLISI x 6T60TAYLD, x 6T60T LIS + 6T60TEYLD, + 6T60T LIS
+ 6TE0TEYLD Q&ITEOOTL_IT6V 33 + 11 — 2+ 25 x 5 -60T LOG)LIL

a) 50 b) 55

c) 60 d) -50

Q.27) FWPWSTWSH LGS &L HILILITL (HESHTeT &([Hell
a) QoM b) BlemevTeY
C) Bl 6voT6OT 6 d) 24, E56m LG G 60T

Q.28) pall #&WML LD LLMHISG Tl eVI6TeT 6 (H6U6em60Ts & T6vor L& S 2|61 60fleoT
ST, 2 6018l &He0SHUIN 6T G LNGH6IT 6T60TMI Fn ISP MIT 6T6vfl6V L, hIGSmailev
9 _GTETEUENIE @ &F&UIIT 6T60T60T 2_M6)?

a) Lnemeorel b) HTWITH

C) BRI d) | 6v0T600(]

Q.29) udlevsserfledr eTevoTEvON8560 85 WLIMTEOTS! 1/3 LIMIG & ([H 6 & 6rfleor
6T600T6001 | & 60 585G FLOLD. & ([HEN&6ITITETSI 85T 60) 8585611 60T
6T600T6001 1856018 U6V 2/3 LITHIEG 2_6TeTgl. QDTS S 85M&HHIS6T 30 61601160
LouNev s erfl6dT 6T6v0TE0OT 18560085 WIS ?

a)3 b) 4

c)5 d)6

Q.30) 1,3,5,2,4@eimmler &m&if] eTeoreor?
a)1l b) 3
c)2 d)4



